
1) (-248) - 934

Answer: ____________

2) (-580) ÷ 29

Answer: ____________

3) (-351) ÷ 27

Answer: ____________

4) (-72) ÷ 18

Answer: ____________

5) An amount was decreased by 2% to 
$305.00. Find the original amount.

Answer: ____________

6) (-237) - 345

Answer: ____________

7) (-951) + (-416)

Answer: ____________

8) (-346) - (-958)

Answer: ____________

9) Round 27.03640734 to 1 significant 
figures.

Answer: ____________

10) Round 14.6034191696 to 7 decimal 
places.

Answer: ____________

11) (-832) + (-815)

Answer: ____________

12) 390 ÷ (-10)

Answer: ____________

13) (-797) + (-495)

Answer: ____________

14) (-642) - (-696)

Answer: ____________

15) An amount was decreased by 5% to 
$461.00. Find the original amount.

Answer: ____________
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16) 47% of 84

Answer: ____________

17) Round 11.724 to 2 decimal places.

Answer: ____________

18) Find the percentage change from 10 
to 11.6

Answer: ____________

19) 40% of 16

Answer: ____________

20) (-226) - (-985)

Answer: ____________

21) Find the percentage change from 50 
to 62

Answer: ____________

22) 912 + (-813)

Answer: ____________

23) Round 28.27688327 to the nearest 
10000

Answer: ____________

24) Round 27.07574776 to 6 significant 
figures.

Answer: ____________

25) Round 15.9140237 to 5 decimal 
places.

Answer: ____________

26) (-290) ÷ 10

Answer: ____________

27) An amount was increased by 8% to 
$113.00. Find the original amount.

Answer: ____________

28) 42% of 71

Answer: ____________

29) Round 26.81 to 1 decimal places.

Answer: ____________

30) Round 11.910851572 to 1 decimal 
places.

Answer: ____________
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31) (-754) ÷ 29

Answer: ____________

32) (-741) ÷ 39

Answer: ____________

33) An amount was increased by 5.1% to 
$52.00. Find the original amount.

Answer: ____________

34) Round 10.9669 to 1 decimal places.

Answer: ____________

35) 9 x (-26)

Answer: ____________

36) Round 16.215655 to 5 decimal places.

Answer: ____________

37) Round 29.226915 to 5 significant 
figures.

Answer: ____________

38) Round 14.54 to the nearest 10000

Answer: ____________

39) (-827) - (-783)

Answer: ____________

40) Round 17.605 to 2 decimal places.

Answer: ____________

41) 29 x (-42)

Answer: ____________

42) Round 1.81 to 1 decimal places.

Answer: ____________

43) Round 9.92 to 1 decimal places.

Answer: ____________

44) 28 x (-23)

Answer: ____________

45) Find the percentage change from 61 
to 73.2

Answer: ____________

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

November 25, 2023

Sr: 25112023-3380

 

http://www.geekschool.co.uk


46) (-202) + (-233)

Answer: ____________

47) An amount was decreased by 1% to 
$340.00. Find the original amount.

Answer: ____________

48) 55% of 30

Answer: ____________

49) (-108) ÷ (-18)

Answer: ____________

50) 11 x (-35)

Answer: ____________

51) Round 23.29283 to 4 decimal places.

Answer: ____________

52) (-1360) ÷ 34

Answer: ____________

53) Round 8.632 to the nearest 1000

Answer: ____________

54) Find the percentage change from 50 
to 67

Answer: ____________

55) 491 + (-302)

Answer: ____________

56) Round 24.45171 to the nearest 10

Answer: ____________

57) Round 3.85873989 to 4 significant 
figures.

Answer: ____________

58) Find the percentage change from 75 
to 57

Answer: ____________

59) Round 12.75596 to 1 significant 
figures.

Answer: ____________

60) (-630) - (-826)

Answer: ____________
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61) Round 22.3666198 to the nearest 
10000

Answer: ____________

62) (-351) ÷ 27

Answer: ____________

63) Round 21.07 to the nearest 10000

Answer: ____________

64) Round 23.005389160 to 3 significant 
figures.

Answer: ____________

65) Round 1.365324 to the nearest 10

Answer: ____________

66) 21% of 69

Answer: ____________

67) (-641) + (-582)

Answer: ____________

68) Find the percentage change from 15 
to 40.2

Answer: ____________

69) Find the percentage change from 40 
to 36

Answer: ____________

70) Round 21.378 to 1 significant figures.

Answer: ____________

71) 67% of 62

Answer: ____________

72) An amount was decreased by 8% to 
$95.00. Find the original amount.

Answer: ____________

73) 545 + (-406)

Answer: ____________

74) (-266) ÷ 38

Answer: ____________

75) 27 x (-18)

Answer: ____________
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76) Round 6.15698 to the nearest 100

Answer: ____________

77) (-147) - (-173)

Answer: ____________

78) 40% of 12

Answer: ____________

79) Find the percentage change from 16 
to 20.8

Answer: ____________

80) 57% of 99

Answer: ____________

81) Round 23.8502629772 to 4 
significant figures.

Answer: ____________

82) Find the percentage change from 4 to 
60

Answer: ____________

83) Round 26.353 to 2 significant figures.

Answer: ____________

84) Round 15.3088442 to 5 decimal 
places.

Answer: ____________

85) An amount was increased by 7% to 
$153.00. Find the original amount.

Answer: ____________

86) Round 8.1173 to 1 significant figures.

Answer: ____________

87) Find the percentage change from 5 to 
21

Answer: ____________

88) (-620) ÷ 31

Answer: ____________

89) 4% of 26

Answer: ____________

90) An amount was decreased by 3% to 
$500.00. Find the original amount.

Answer: ____________
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91) Find the percentage change from 4 to 
83

Answer: ____________

92) 19% of 27

Answer: ____________

93) 34% of 61

Answer: ____________

94) (-389) + 721

Answer: ____________

95) Find the percentage change from 14.8 
to 33.3

Answer: ____________

96) Find the percentage change from 16 
to 100

Answer: ____________

97) 15% of 57

Answer: ____________

98) Round 11.29795 to 1 decimal places.

Answer: ____________

99) 267 + (-347)

Answer: ____________

100) (-841) ÷ 29

Answer: ____________

Total: ___ / 100
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Answers:

1) -1182 2) -20 3) -13 4) -4 5) $298.90 6) -582 7) -1367

8) 612 9) 30 10) 14.6034192 11) -1647 12) -39 13) -1292 14) 54

15) $437.95 16) 39.48 17) 11.72 18) 16% 19) 6.4 20) 759 21) 24%

22) 99 23) 28.2769 24) 27.0757 25) 15.91402 26) -29 27) $104.63 28) 29.82

29) 26.8 30) 11.9 31) -26 32) -19 33) $49.48 34) 11 35)

36) 16.21566 37) 29.227 38) 14.54 39) -44 40) 17.61 41) 42) 1.8

43) 9.9 44) 45) 20% 46) -435 47) $336.60 48) 16.5 49) 6

50) 51) 23.2928 52) -40 53) 8.632 54) 34% 55) 189 56) 24.5

57) 3.859 58) -24% 59) 10 60) 196 61) 22.3666 62) -13 63) 21.07

64) 23 65) 1.4 66) 14.49 67) -1223 68) 168% 69) -10% 70) 20

71) 41.54 72) $87.40 73) 139 74) -7 75) 76) 6.16 77) 26

78) 4.8 79) 30% 80) 56.43 81) 23.85 82) 1400% 83) 26 84) 15.30884

85) $142.99 86) 8 87) 320% 88) -20 89) 1.04 90) $485.00 91) 1975%

92) 5.13 93) 20.74 94) 332 95) 125% 96) 525% 97) 8.55 98) 11.3

99) -80 100) -29
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